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1.1.2 The data is skewed to the left or negatively
skewed. / Die data is skeef na links of negatief
skeef.

113 Range/ Omvang
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=35-6

1.1.4 The median for Supermarket A is 26
deliveries per day, which means that
Supermarket A received 26 or more deliveries per
day for 7 days (50% of 14 days). Thus
Supermarket A received more than 25 deliveries
for more than 7 days.

The median for Supermarket B s 20 deliveries
per day, which means that Supermarket B
received 20 or less deliveries for 7 days. Thus
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